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1. KIACHUYHMU/CLASSIC (3 moena/points)
2. KIACUYHM/CLASSIC (5)
3. KIACHUYHM/CLASSIC (5)
4. CIOBHU/LETTER (4)
5. CTOTKA/HUNDRED (9)
6. OKOJIHE CYME/SUM AROUND (11)
7. KAJIKYJOKY/CALCULOKU (8)
8. 3SBUPOBU/FRAME (8)
9. KBAIIPATHHM BPOJEBU/SQUARE NUMBERS (12) noso/new
10. CITMPAJIA/SNAIL (10) noso/new
11. IIYTA 7/TIMES 7 (12) noBo/new
12. KTABUJATYPA/KEYBOARD (13) noso/new

Cet nocu ykynHo 100 60o10Ba. Bpeme 3a pemiaBame je 2 carta.
Total 100 points. Time for solving is 2 hours.




1-3. KIIACUYHU/CLASSIC (3+5+5)

Hcnynute mpexy OpojeBuma on 1 10 9 Tako na ce ucTu Opoj HE MOHOBH y PENy, KOJOHU U
KBaapary 3x3.
Fill in the grid so that every row, column and 3x3 box contains all different digits from 1 to 9.

npumMep/example:

1

5[7 9l4 pememse/solution:
411 6|3 gl7]6[3]1]4[9]2]5
3|2|5]|7]|6]/9]4]/1]|8
9 2 6 9/4[1]5|8|2]|6|3]|7
5/6|2 71419 7]19]8la|2]5]3]6]1
1 9 8 5/6[2]8[3]1]7]4]9
411|3]6|9|7]|5/8]2
84 2.5 1/84|9]7]3[2]5]6
711 6|8 2|5/7|1]4]6]8]9]3
5 6/3|9[2|5[(8]|1]7]|4

4. CJIOBHW/LETTER (4)

I/ICHYHI/ITG MPCXKY Ca JCBCT pa3ININTHUX CJIOBA TaKO Aa CC UCTO CJIIOBO HC ITOHOBU Y pE€y, KOJIOHU
1 KBajapary 3X3.
Fill in the grid so that every row, column and 3x3 box contains all nine different letters.

npumep/example:

| A E|S T|L peweme/solution:

CIT A @) |

I |A|O|JE|S|C|P|T|L

O I PIS|C|T|A|L]JO|E] I

O S LIE|T]J]O|P|I]|]S|A]|C

E P L O T A|O|S|C|I |T|]E|L|P

C|I|E|JP|L|O|T|S|A

|| C TILI|P]JA|JE|S]|]I |C]|O

S E o|P|A]|s|c|E|L|1]|T

S I T PIA S|{C|I]|L|T|P|JA|JOJ|E

ElT O A =) S E|T|LJI|O|A]C S




5. CTOTKA/HUNDRED (9)

Baxe cranmapaHa cyqoky mpaBwiia. Y CBakoM peay KoMOHMHanuje OpojeBa y CHBUM IOJbHMA
najy cymy 100.

Standard sudoku rules apply. In each row the sum of the number combinations in the gray cells is
equal to 100.

npumMep/example:

6 4 8 -
pemerse/solution:
1 6l211|4|7]|9]|8|3]|5
9 5/8/7(2/3|6]4l1]9
3l9l4|5|8|1]6]2]|7
9 2 4 7135|011 4268
7 olel8]|3|2|5]|1l7]|4
1 al1]2(sl|6]7]|5]9]|3
gls5|3[1]9|2]7]4]6
1/7|/9|6|4]8|3]|5]2
6 3 1 2/4|6|7|5|3]9]8]|1

6. OKOJIHE CYME/SUM AROUND (11)

Baxxe cranpmapaHa cyaoky mpaBuiia. bpojeBM Yy CHBUM TOJbMMa MPEACTaBIba]y CyMY
XOPU30HTAITHUX U BEPTHKATHUX CYCEIHHUX OpOjeBa.

Standard sudoku rules apply. The numbers in the gray cells show the sum of the numbers in
orthogonally neighbouring cells.

npumep/example:

3 9 pemerse/solution:
3 8 1

4 4|3[2]6l1]/9]5|7]|8
5/9l6|3[7]8]2]4]1
3|1 S g|7/1|2/4|5]6|3]09
) 4 3(114l9]2]7]8]5]6
6 217 712/5|1/8|6]4|9]3
ol6|8l4a|5|3]1]2]7
3 6/5/7|8[3/4]9|1]2
2 V4 1 2lalol|7]6|1]3]|8]5
5 6 1/8/3|5]9l2|7]6]4




7. KAJIKYJIOKY/CALCULOKU (8)

Baxe crammapiHa CyqoKy mpaBuja. Y CHBHM IOJbMMa j€ MAaTeMaTHYKH padyyH caOupama.
[Tocnenmwa komOMHAIM]a jeHAKA je 30Mpy CBUX KOMOHWHAITM]a U3HA e,

Standard sudoku rules apply. In the gray area there is a columnar addition. The combination in
the last row is the sum of the all previous row combinations in the gray cells.

npumep/example:

3 2 0 pemesse/solution:
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8. 3BIPOBI/FRAME (8)

Baxxe crannmapnna cynoky npaBuia. bpojeBu ca ctpane moka3zyjy cyMmy IpBa Tpu Opoja y peay
WJIN KOJIOHH, ITIOCMAaTPaHo U3 TOT IpasLa.

Standard sudoku rules apply. The numbers in the outside frame are equal to the sum of the three
nearest numbers in the corresponding row or column.

npumMep/example:

22 10 13 11 11 23 12 16 17

14 3 18 pemieme/solution:

12 15

19 12 9/2(3|1/4/8]7!6]5
5/1]/6|7/2/9]4]8]3

16 21 8/ 7/4|3|5/6]1/2]9

19 9 6 2l5laolal3]1]6]7]8

10 18 71al8l6l9l5]2]3]1
3/6/1|2]8|7]|5|9]4

6 19 1132|9748 |5]|6

18 11 4195|8623 (1]|7

)1 4 15 6/8|7|5/1/3]9l4]2

11 20 14 22 14 9 20 10 15



9. KBAJIPATHU BPOJEBU/SQUARE NUMBERS (12) noBo/new

Baxe crannapaHa cynoky npasuwia. CBaka KoMOMHAIMja Y CUBUM TOJbUMa (C JieBa Ha JIECHO H
0J103T0 Mpema joiie) je kBaapatau 6poj (16, 25, 36, 49, 64, 81, 169, 196...).

Standard sudoku rules apply. Each number combination in the gray cells (from left to right and
from top to bottom) is a square number (16, 25, 36, 49, 64, 81, 169, 196...).

npumep/example:

6 1 21819 pememe/solution:

2 8 3|7
71sl6|3]1]4a]2]8]09
8 ol2]1|sl6l|8]4|3]|7
6 71 gla|3[72/9|5]1]6
1 914|6 5 6/8/4|2|5|3]|9|7]|1
59 A 3/1]/7|9l4|6]8]5]2
5lol2|1|8|7]3]6]4
S 21718l4al3]1]6]9]5
46 8 2 4l6l9ls|7|5]1]2]3
113|5 9 7 1|13[5|6o]2]|7]4]s

10. CIIMPAJIA/SNAIL (10) noso/new

Baxe cramgapnna cymoky npaBwia. Mcmonm mpexe mare cy cBe meTouudppeHe KOMOWHaIM]je
OpojeBa Koje ce jaBJbajy AYXK CIiupalie, a Koje uMajy 0apem jenaH Opoj Koju ce TOHaBIbA.
Standard sudoku rules apply. All five-digits sequences that appear along the snail which have at
least one digit repeating are given below the grid.

npumMep/example:

—> 2 7 8 l pemerse/solution:

1 2 817

5 9 = (2l6|7|3|/5/8/9|1|4

113/4/9/2]6|5]|8]7

3 9 5(8/9/1/4[7]2]3]6

V4 3 9 al1[3l5]8l9]l6|7]2

6 4 6(7|5(2/3]1]4]|9]8

slol2l6|7]|4]|1]|5]3

38 9 3(21/7/6|5|8]4]|9

715 9 1 7|{5/8/4/9/2|3]6]1

7 3 7 5 9l4l6/8|1]/3]|7]2]|5

12535, 18914, 25358, 45134, 47264, 53589, 71891, 97189



11. ITYTA 7/TIMES 7 (12) noso/new

Baxxe cranmapaHa cyAoKy NpaBuiia. Y Ha3HAYEHUM I1OJbMMA, YUTAHO CJIEBA HA JECHO U OJ03T0
Ha J0Jie, Haja3ze ce nBouudpeHu OpojeBU Koju cy ymHommu Opoja 7. CBu TakBH OpojeBU Yy
MPEXHU Cy 00ETICKEHHU.

Standard sudoku rules apply. All two-digit multiples of 7 that appear in the grid (from left to
right and from top to bottom) are marked.

npumep/example:

pemiere/solution:

INEE 1
0 0 040 5(3[1|7/4|8]2|6]9
-OCPO 0 716lals5]2]9]3|8]1
S O olslol3l1]6|5]4]7
713 é 402 glals|2/9l1]6|7]3
O 117[3]|6l8|5lal9]2
6lo9l2l4al3]7]8]1]5
- ols5|7[8l6]2]1]3]4
O 3|2l8l|1l7]4]|9|5]|6

20 71 & |Bo
0 al1]le|o9ls|3]|7]2]8




12. KIIABUJATYPA/KEYBOARD (13) noso/new

VY Mpexy Tpeba ymucatd My3udke TOHOBe (maTmHHYHA ciaoBa oA A no H) Tako na Baxke Cymoky
npaBuia. YKOIMKO ce u3Mel)y JiBa moJjba Hajas3M IpHa JUPKa, pacTojarmbe TOHOBA Y THM TOJbUMA
je %2, a yKoJIMKO ce Hama3u 0eja AupKa, pacTojamkbe THX ToHOBA je 1. CBa pactojama nyXuHe Y2 u
1 cy oGenexena.

Kommietnu cucrem pacrojama mehy cycenaum Tonopuma: C—1-D-1-E-%-F-1-G-1
-A-%-B-%-H-%- C. O6parure naxmy, pactojame u3mel)y Tonosa A u H, kao u
m3mely TonoBa B u C je 1.

Fill in the grid music tones (letters form A to H) according to standard sudoku rules. If there is a
black key between two cells, the distance between the tones in those cells is %, and if there is a
white key, the distance between them is 1. All distances of length ¥ and 1 are marked.
The complete system of distances between consecutive tones: C—-1-D-1-E-%-F-1-G
-1-A-%-B-%-H-%- C. Pay attention, the distance between A and H, as well as
between Band C is 1.

npumep/example:
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pemieme/solution:
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